UNIT-VII
(p-BLOCK ELEMENTS)

One (01) Marks Question.

1. Which of the following allotropes of phosphorous is the most stable :
(a) Red (b) White (c) Black (d) All are equally stable.
g8 ¥ BIEHIRT BT PI- I UHY Sgre] WS 2 —
(@) T (@) STl (3T) BTer (8) 370 A Y|

2. Oleum is :
(a) Castor oil (b) oil of vitriol (c) fuming H,SO, (d) None of these.
AT 8 —
(@) BReR det (@) Felia &1 dd (1) BT (@) H,S0, (3) 399 | dIg 8 |

3. In which period Nitrogen is present :
@2 (b3 (c)4 (d) 1
Arscioi fea smad ¥ SulRerd & —
®2 (@3 (M) 4 (&) 1

4. The hybridization of Phosphorous in P, :
(@sp (b) sp2 (c) sp3 (d) Non of these.
BB BT THEHIOT DI BRIT i—

(®) sp @) sp> () sp’ (@) 3T ¥ BIS 7S |

5. The oxidation number of Sulphur in Na,SO, is :
(a)+4 (b) +8 (c) +6 (d) -6.
ASHR BT SMRNBIOT T Na,SO, H 8N —
(@) +4 (T +8 (M) +6 (=) —6

6. Chorine was discovered by :
(a) Neil Bohr (b) Scheele (c) Berthelot (d) HUND.
Cl, &7 ffdshR fhaq fdbar —
(@) T aR (@) M (1) 9T die (@) g |

7. Chlorine reacts with excess of NH; to form:
(a) NH,Cl (b) N, + HCI (c) N, + NH,Cl  (d) NH4NO;
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TR Sriferar o Srfrepar | ufafshar & s 2
(@) NH,C1 (@) N, + HCI () N, + NH,Cl

In which group Sulphur is present :

()12  (b) 14(c) 15 (d) 15

e ford T8 # 2|

()12 (b)) 14(c) 15 (d) 15

The total numbers of element present in p-block is :
()13 (b) 31 (c) 33 (d) 28

< H Rerd T<al ol Fw&

(@) 13 (b) 31 (c) 33 (d) 28

Give the shape of XeF, molecule?
XeF,3] &1 3ER ford?

Who discovered lodine?

AT BT e et or?

Give the Formulae of Bleaching powder?
favsTs ol &1 9§ ford?

Which group elements are called halogen?
gl 58 T8 & i & $ed o7

What is aqua-regia.

ISl b Tl &7

Write the structure of nitric acid.

Tsfed et @) TxaT forRd?

(1) NH4,NO;

How many Valence electrons are present in inert gaseous elements?

i A9 # b doid gelagle B 87
What is the formulae of Laughing gas?

AMGT I &1 qF 7T &°

Two (02) Marks Question.

How NHj; 1s Manufactured by Haber Process.
TR ffY & grr omifar 1 et B9 e 27

Give Lab process for the preparation of PH;. How PHj; reacts with Cl,.

PH; & TR § &9 a1 STl & | PH@@IRT A &9 uffshan axar 27



10.

What happens when PHj is heated at 713 K in the absent of air.

RN BT & 94 PH, @1 a1 &1 3JuReifa # 713 K R T &7 §?

Give two difference between phosphine (PH;) and Amonia (NH3).

PH, 3R NH5#H &I 3tk Jam |

How NHj; reacts with Cl, (Excess).

IR FAIRT BT e F DY Hfetehar el 87

Write name of two allotropes of phosphorous.

HIRABRY & al JJToul Bl ford?

Write two difference between white Phosphorous and Red Phosphorous.
G HRAHRY U4 dllel HIAHRY & 49 &l 3R Bl WE I |

Complete the following reactions :

(i) Cu+ HNO;
(i) XeFy;+O,F, ———
fferiad &1 1 &

(i) Cu+ HNO;
(i) XeF; + O,F,

Write formulas & structure of 2 oxeyes chlorine.
FAINT & Al 3 D1 el U A fore?
Write structure of the following :

(i) PCl;

(i1) PCls

e @1 wve ford:

(i) PCl;

(i1) PCls



11.

12.

13.

Write oxidation number of P in the following compounds.
(i) POCl;

(ii)) H;PO,

P ] eIy e fforiad § & g

(i) POCl;

(ii)) H;PO,

What happens when :

(1) Ammonium Dichromate is heated.

(i1) Ammonium Nitrate is heated.

T B & o9

(®) SrIfTe STed™e T fham ST &

(@) T Argge T fhar o @

Write any two methods for preparation of NHj.

3T 1 @ 37 fafdy a7 ford

03 marks question.

Explain the following observation:

(i)  Phosphorous has a greater tendency for catenation than nitrogen.

(i1)  ICl is more reactive than I.

(i11) F, 1s a stronger oxidizing agent than Cl,.

fferRaa @1 FH3IY

(®) BBRY H ATEEIGH @I ol § DI DI Y9 ST & |
(@) L, 3mNfeT & ST Afha g |

(M) F, 3R 3 9ol SATRIGRS 2

Explain the following observation:

(1)  Sulphur has a greater tendency for catenation than oxygen.

(1))  Oxygen is gas but sulphur a solid.



(ii1)) The halogens are coloured why ?

faforad @1 el

(@) B # SRS @ o § dened @t yafa wmer 8
(@) SffaRioT T ¥ 2 Tafd Aewx o &

(M) Bl i BT €

Explain the following :

(1)  Sulphur is a p-block element, why ?

(1)  Lithium is not a p-block element, why ?

(i11) NH; formlalien by Haber process is founded at low temperature, why ?
fferRad @1 FH3IY

(@) Terp P BT O &

(@) ferforar p ot @1 a6l @

(M) TR Ay & emiferr @1 fwioT 7 Ao W fhar S & |

Explain the followings:

(1)  Nitrogen is more electronegative than P, why ?

(i1)  Argon is an inert gaseous element, why ?

(i11) Water 1s not added slowly to H,SO, but H,SO,is added, why ?
fferRaa @1 FH3IY

() LIS BIABRY | ST fdgd UHS &

(@) amta ve Aftpy 49 §

(M) STt @1 H,S0, # eR-4R T2 STell ol €1 HoSO, 1 9el H dR—¢R o1 ©

Give the structure of followings:

(i) N,O5 (ii) PH; (iii) H5PO,
ffeiRad & wvaT 3 fored
(i) N,O5 (ii) PH; (iii) H5PO,
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11.

12.

13.

Give the heating effect on followings:

(i) Ag,O (i) KNO; (ii1) Ca(ocl)Cl
ffoRed W a @1 yTa ford

(i) Ag,O (i) KNO; (ii1) Ca(ocl)Cl
Select the acidic and basis anhydrides from the following:
(1) Na,O (i1) P,O¢ (i11) SO,
fferRae # BIF |1 3t SR BIF |l &R UrIEIESIes o
(1) Na,O (i1) P,O¢ (i11) SO,

Give three (3) main difference between Rhombic and Monoclinic Sulphur.
Rfige IR A EG Feh # T g&7 SR Ta |

Give the lab preparation (balanced equation only) method of following:

(1) SO, (ii) Cl, (iii) NH;

frforRad @1 SRIFTRITET # ¥ 9917 STl ©

(1) SO, (ii) Cl, (iii) NH;

Give the structure of following ions:

(i) SO~ (i) PO,> (iii) NOy

fferRad oI &1 e 3 ford

(i) SO,* (i) PO,> (iii) NOy

Give two examples of each of OXO acid of halogen having oxidation state:
(1) +1 (i1) +5 (iii) +7

ISl & ATl 3Tl BT &I IaTERV & FOH Bellor Bl STRIHRT =T
(1) +1 (i1) +5 (iii) +7

Give three main types of inter halogen compounds with two example.
A & 7R galior AT a1 SaTERY & A ford |
Give shape, hybridization and total shared electron pair in followings:

(i) CIF; (ii) BrFs (iii) TF,




14.

PR, YRHHRVT T TS dTe] Seide i & Sils & fAHferRad MAHT # g9y

(i) CIF; (ii) BrFs (iii) IF;
Give the preparation of followings:

(i) XeF, (i1) XeF, (iii) XeOF,
frfeiRad & $9 S ST 8

(1) XeF, (i1) XeF, (iii) XeOF,

Five (05) marks question

(a) What is Rhombic and Monoclinic Sulphur.
(b) Give the principle for the manufacturing of sulphuric acid in industry.
(c) What happens when H,SO, reacts with carbon.
(d) What happens when conc. H,SO, reacts with Nacl.
(@) A 3R AFITTAD TR RAT 87
(@) SeT ¥ H,S0, 39 &1 Rigid 87
() 7 BT © 919 H,SO, d1ae ¥ Hfafehar dvar &?
(&) I B § 914 H,SO,. Nacl 3 wfifshar axar 87
(a) Give the simians’ process for the preparation of Ozone (O3).
(b) What happens when:
(1) Ozone reacts with lead sulphide (PbS).
(1) . ,» Hydrochloric acid (HCI).
(111) ’, ,» Ferrous Sulphate (FeSQOy,).
(®) NI g9 &1 A fafey ford

(@) @1 2B 8 9

(i) IS o€ Fobise (P&S) ¥ Tfafhar eear 2
(ii) 3ISIM HCL ¥ wfdfshan axar 8

(iii) 3 B9 Gebe ¥ ufafhar ovar 2




(a) What is depletion of Ozone layer.
(b) What happens when:
(1) Phosphorous reacts with conc. H,SO, .
(i1) Acidic K»,Cr,0 reacts with SO,.
(i11)  Sulphur reacts with Chlorine.
(®) TSI IR BT FH R B?
(@) @ BT & o
()  WRBRA H,SO,¥ ufifhar &=l &
() i K,Cr,0; SO, ¥ wfifdhar axar &
(c) b FlIRT | ufafshar oxar &
(a) Give the name of element present is group 17.
(b) What are Inter halogen compounds.
(c) How many types of oxo-acid of halogen are found, Give one example of each.
(@) T 17 ¥ Rerd aeal &1 W ford |
(@) g gallo e RT3 |
() ElIoM & 3MaReY 3l & fba UHR 814 8 | AP BT Uh SRV ¢ |
(a) Give the lab method for the preparation of nitric acid (HNO;), Principle only.
(b) Write the Ostwald’s method for the manufactured of HNO; acid (halaned
equation only).
(c) Now H,SO, is manufactured by contact process. (principle only)
(@) Efed o & TANTENS H 999 &1 Ay &1 au x| (R e <)
(@) TEfed ore 999 @I ofdTes fafy @ar 87 (R1w |aHiexyT <)
(M) H,SO, Fede faftr & &w a9 Sirar 27 (R wiawor <)




